APPENDIX D





RISK MANAGEMENT FOR LEADERS QUIZ








1.    In past wars, most Army casualties were due to:





       a.    Accidents, including fratricide.


       b.    Enemy action.








2.    Which of the following statements are true?





       a.    Force protection is an element of combat power.


       b.    Safety is a component of force protection.


       c.    Force protection is an objective of Force XXI.


       d.    Risk management is the Army's principal risk reduction process to protect the force.


       e.    All of the above.











3.     Which of the following can cause and/or contribute to accidents?





       a.  Human error


       b.  Materiel failure/malfunction


       c.  Environmental factors. 


       d.  All of the above








4.     What percent of Army accidents are caused by human error?





       a.    80%.


       b.    50%.


       c.    15%.


       d.    5%.








5.     In a human error accident, the individual who made the mistake is at fault if  he/she:





       a.    Knew and was trained to standard but elected not to follow the standard.


       b.    Had a leader that failed to enforce the standard.


       c.    Was performing a task for which the procedures were poorly written and not


              not practical.


       d.    Was not trained on procedures.











6.     Using the scenario presented below, identify the source/root cause of the human error. 





	After being warned that the turret was about to be traversed, the M1A1 tank 	driver removed his CVC helmet and exited the vehicle with the engine operating.  	The driver was killed when the turret was moved.  The driver elected not to follow 	procedures because he was in a hurry to clean the vision blocks.





        a.    Individual.


        b.    Leader.


        c.    Training.


        d.    Standard.


        e.    Support.








7.    Using the scenario presented below, identify the source/root cause of the human error.





	Soldier was injured while inflating a split rim tire.  The soldier had been certified 	on servicing tires and was using a tire cage.  The soldier did not use  a 12 foot 	extension inflation hose because his unit didn’t have one.


       


          a.    Individual.


        b.    Leader.


        c.    Training.


        d.    Standards.


        e.    Support.








8.    Risk management is the six step process of identifying and controlling hazards to protect the force?        





         a.    True.


         b.    False.








9.     Risk Management is applicable to:





          a.    Tactical missions.


          b.    Administrative tasks.


          c.    Field training environments.


          d.    Office environments.


          e.    All of the above.

















10.      One of the Army's goals is to make risk management a routine part of planning and executing operational missions.





           a.    True.


           b.    False.





11.     All leaders have the responsibility to:





          a.    Identify hazards.


          b.    Take measures to reduce or eliminate hazards.


          c.    Accept risk even though the potential cost (personnel and equipment losses) is 	  	     greater than the benefit (mission success).


          d.    A and B.


          e.    All of the above.








12.      Which of the following are hazards?





           a.    Cold weather and soldiers without cold weather clothing.


           b.    Frostbite.


           c.    Hot weather and water intake schedule not enforced.


           d.   A and C.


           e.    All of the above.








13.      Which one of the following hazards is not correctly classified to the appropriate METT-T condition?





           a.    Enemy mechanized recon platoon - enemy.


           b.    Narrow congested road - terrain.


           c.    Fog - weather.


           d.    Fatigued soldiers - troops.


           e.    Insufficient number of soldiers - time.








14.      Hazards should be identified during which steps of troop leading procedures?





           a.    Receive mission, issue warning order and make tentative plan.


           b.    Initiate movement and reconnoiter.


           c.    Complete the plan and issue the order.








15.      The risk of a hazard is determined by estimating:





           a.    The probability/chance that the hazard will happen.


           b.    The severity of injury to personnel, damage to property or impact on the  


                  mission if the hazard results in an accident.  


           c.    Both A and B.


16.      The risk level of hazards should be determined during which steps of troop leading procedures?





           a.    Complete the plan.


           b.    Issue the warning order.


           c.    Make a tentative plan.


           d.    Reconnoiter.








17.      Controls are actions taken to:





           a.    Eliminate hazards.


           b.    Reduce the risks of hazards.


           c.    Both A and B.








18.      After assessing the hazards, develop only  those controls that can be implemented during mission planning, preparation and execution.





           a.    True.


           b.    False.








19.      For the hazard shown, which one of the following controls is not appropriate?





           a.    Enemy has electronic jamming equipment - brief soldiers on enemy 


                  capability.


           b.    Unimproved roads with ruts and washouts - select and brief route that 


                  minimizes unsafe conditions.


           c.    Cold weather - provide warming tents.


           d.    Unlicensed driver - brief driver on road hazards.


           e.    Inadequate time for mission planning and preparation - delay mission start.








20.      Controls should be developed during which steps of troop leading procedures?





           a.    Expand selected COA into a tentative plan.


           b.    Compare courses of action.


           c.    Make a decision.


           d.    All of the above.











21.      The levels of  risk are low, moderate, high and extremely high.





           a.    True.


           b.    False.








22.      A hazards residual risk level should never be higher than it's initial risk level.





           a.    True.


           b.    False.








23.      The overall risk level for the mission/task is determined by procedures in the unit SOP or the hazard with the highest level of residual risk.





	a.  True


	b.  False











24.    Only extremely high risk decisions must be elevated to the next level in the chain of command.





	a.  True


	b.  False








25.       The decision to accept or not accept mission/task risk should be made during which steps of troop leading procedures:





            a.    Make a tentative plan.


            b.    Initiate movement


            c.    Complete the plan.


            d.    Supervise and refine the plan.








26.       Which of the following is not a method of implementing controls? 





           a.    Written instructions to include FRAGO and OPORD.


           b.    Briefing/verbal instructions. 


           c.    SOPs.


           d.    Determine residual risk.


           e.    Training.














27.      Controls should be implemented during which steps of troop leading procedures?





           a.    Initiate movement.


           b.    Make a tentative plan.


           c.    Issue the order.


           d.    A and C.





28.      The effectiveness of a control is determined by whether or not the control:





           a.    Eliminated the targeted hazard.


           b.    Reduced the chance of the targeted hazard from happening.


           c.    Reduced the potential severity of personnel injury, property damage or 


                  mission impact of any accident the targeted hazard may have caused or


                  did cause.


           d.    A and C.


           e.    All of the above.








29.      The effectiveness of controls should be determined during which steps of troop leading procedures?





           a.    Complete the plan.


           b.    Supervise and refine the plan.


           c.    Initiate movement.


           d.    Issue the order.








30.      Which of the following is not an appropriate action to take for each control determined to be ineffective?





           a.    Change the control.


           b.    Develop a different control.


           c.    Change how the control is implemented.


           d.    Change how the control is supervised.


           e.    Change how the control's effectiveness is evaluated.
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